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B EBEE NO. 1

I i& Al Al g - Tk B | BEHEE | BEHE S
EERET
HEAI T
Vi Wi T m* 799.5 800
KRBT KB " m® 19.8 20
BRI # R (REL) | EBEIELOmEKH | m’ 4.4 4
" BRIE!. 0mil 4. 0m%E| m® 338.2 340
R (EA®) | =RE omiitd omkis| m’ 50. 3 50
B HEWIE T m® 14.0 14
ELuET
ErMET EREEHE L=6. OkniAF| m’ 367. 1 370
R R T
TEMET
HRKHE (£ 4> FREH : t=300m | m 313.2 313
BEKEBEYMT
BET
ERUBEE 300 x 500 m 9.1 9 |BEmE
" 300 x 600 m 26.0 26 |BERE
" 300 x 700 m 18.0 18 |z




B E B E X NO. 2
I & Al Al B -~ (B RERE | BEHRE m =
ERUBEIE 300 x 800 m 7.0 IE kS
" 300 x 900 m 6.0 6 |BREREE
FKHT
Sk Ht 400 x 400 x 550 B 1 1 |HiEB296 5 4%
INEVHJLR— T
HEETEERE T 300x300x2000 | m 20. 6 21 |HiEBE296 5 4%
EMRT
BEELLEZLE & 250mm m 32.6 33 | (FEKE)
" ¢ 200mm m 74.6 75 | G5KE)
FAL Y U R—ILERET
1S40 < v k—IL AI#Z900mm BT 4 4
MHE AngEnEgitrsr] K 1 1
E& T 13l 1 1 | (FIKE)
E& T Szl 3 3 |CHEKE)
WET
WEEHT
TEZEFET (R HFRM-40 : t=3cm) | ni 116.5 117 |A1EBE296E 5
FARAI7IL NHET
FET (t=5cm) BATHE7FA2 00| o 429.7 430




B E B E R NO. 3

I # Al # Al B - Tk BAI) BREHE | BEHRE S
7 7K 4% T ARBL (t=60m) m 392.9 393 [HE —HEH
7 7K 4% T ARBL (t=8cm) m 40.0 40 |HE FEAR
BK— b (R #4n) m 432.8 433 |58 — AR
PRAET
TERET (BEHARE t=15em) | m 322.6 323 E%ﬁéﬁﬁ
TRERET (BEVARE t=19cm) | 322.6 323 E%Bﬁ%ﬂéﬁﬁ
BT BAYLARA : t=10om|  m 392.9 393 |HE —HEH
T4IWE—BI |9y arm t=10m| m 392.9 393 [HE —HEH
ITERET BERFEAREA : t=10cm| m 40.0 40 |58 FEAR
TRERET BEYLAREA : t=15cm| m 40.0 40 |58 FEAR
ZAaTL
BEL
SHEEERIOVY — % ERA m 12.7 13
" A 1+EBA m 4.2 4
" YITEBA m 9.3 9
" — % &8B m 58.2 58
" Y1588 m 0.6 1
" FAFERC m 1.2 1




M E BB R NO. 4
I i& Al Al B - STi& BT 2 | BE#E S
SEESRIAVY EIN m 6.0 6
EERIO v | 150x150%600 | m 81.3 81 |—AgER
" 150X 150X 600 | m 7.2 1 |EAL
" 120 x 120 x 600 m 93.6 94 [—HEEIA HERT
— AR ERCH m 1
ERBIARET
+T
BRIE BT m® 31.2 30
ROER MM T m* 5.5 6
BE (FERD) BREIE]. Omki | m’ 1.1 8
BE (REL) IBEIE]. Omki | m’ 18.0 20
BAAET  |EMeERE L=6. OkmblF| m’ 11.4 10
FREARIBT
FEBALT (LED) H=8. Om B 1 (—f2F)
FEBALT (LED) H=8. Om £ 2 (ZESR)
Ny BR—L 600 x 600 xH910 | % 1
BE - gL
RATEEAY IF L FEP30 m 54.9 55 |hehRts
TR (94211, 5mm) CV/3. 5s9-2C m 54.9 55
15— b 150m 245 TAHA| m 54.9 55
TR T




HERBE R NO. 5
I & Al 3Bl B - T [ B E | BE%E wm =
BHRIOYIBRET
BE/ARJL |[O300x 300 (Baf=) | i 45.1 45
FEJovy [1300x 30060 | ni 7.9 8
BRERET
BHik& (H=850) & 9 9 |(EE=)
RIRF BT (H=800) x 8 8 | (&) B2965 %
R Y—JLA (¢ 350 - H=410) &= 4 4
RUFA (W555 x L1200 x H755) | % 2 2
AyaTdz R (H=1200) m 46.8 47 | (2ER)
£+ (E1) (t=30cm) m’ 10.9 1| (SER)
X El#R T
BEt = X E#R
£ (82) W=15¢m m 203. 3 203 |BR{AIER - PRER
R (82) W=30cm m 1.2 11 [Fy Mg (B296548)
iR (8) W=30cm m 13.6 14
£ (8) W=45cm m 113.8 114 |[#EHi5iE - Siig
ESA(=)) W=45¢cm m 10.6 11 | €756 B2965#)
Ei#R (Fr) W=45¢cm n 17.0 17 [@io st (829624
=R (8) W=15cmifa % m 203.5 204

BEYMHET




B E B BEE NO. 6
I & 2 Al ot AL g - Tk Bi{1 = | BEH=E w =
BEMEUE L
SRR T (t=15cmLL ) m 65.5 66
SHE R (t=5c¢m) m 185. 1 185
TR 77 FEKLSE m® 0.08 0.08
FRAT7IL NEKERE =1 1.00 1
BB (As3) SEHREESE 1=10 Skl | m° 9.2 9
ComtiEy - M5 | EgEEsE L=8. OkmiAF| m3 8.4 8
RBFEEEHE
RBFEZBE @ RBEFEEA A 3.0 3
XEFESB A 11.0 11
MiETEE
HEBREE
BiTEEE TEHRE
Y O LRHEER| &K 2.0 2
IR 15 0BR: BR & 1.0 1
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T T5EE

NO. 1

fEEIT

Y&

HI  #eHiET

(TEHEELY)

261.20 m*®

X EER 1SR

n

n

136. 88 m’

MK EEMER

"

1/

V=3. 63m°/10% x 3%

1.09 m®

RREAE 1%

"

1/

190. 05 m®

HKEEMER

"

n"

25.28 m®

FEAERER

"

"

98.45 m®

BAERER

"

n"

47.02 m®

BEAREREH

"

n"

39.53 m®

HKERMFK

o 5
[= - |

799.50 m®

73

¥ HEWET

(LEHEELY)

19.79 m®

op
Eil_l

19.79 m®

HBRET i

l

(BE+) BHET

BRIE. OmRiEm (TSHEELY)

4.44 m®

op
Elil_l

4.44 m®

]

(R4t BHET

ERIEL O0mBlE4 OmKi

57.15 m®

M7k EE AR

n

n

n

140.76 m®

Bk ERHB

n

n

n

17.41 m®

BAERHB




T T5EE

i

NO. 2

18 O (R4t EEET

EBRIEL 0mElE4 OmK i

68. 26 m’

B EEAR

n

n

n

25.86 m®

FK R

"

"

n"

28.73 m®

HIKEREMK

D
=

i

338.17 _m°®

12

R (B4 #WET

BREIE]. 0mPLE4 OmKH

17.33 m®

MAERHHR

"

"

n"

14.46 m®

BAERER

"

n"

n"

2.42 m®

BEAREREH

"

n"

n"

9.24 m®

HKERMFK

1/

n

n"

3.65 m’

B ERR

1/

n"

n"

3.21 m®

HKERMEFK

o

Bt

50.31 m®

e T

4.29 m®

M7k EE MR

n"

4.26 m®

B ERR

n

n

0.71 m®

HIKEEMFR

n

n

2.73 m®

it B il

n

n

1.08 m®

Bk ERHB

n

n

0.95 m®

BAERHB




T ITEE i = NO. 3
& & 14.02 m?®
BAMET
BAMEBT =6 Okn HEHI- (25) 0.9 367.10 m® DIDA
& & 367.1 m®




Al T = EE NO. 1
Al 5 BB W @ R FHUE w3 B =
1CNO. 6+9. 890 0. 90
4.32 1.25 5. 40
10NO. 6+14. 214 1.60
10NO. 6+14. 214 8. 50
5.78 8. 50 49.13
10NO. 7 8.50
20. 00 8. 95 179. 00
10NO. 8 9. 40
1.13 9. 55 10. 79
1CEC. 2 9.70
1.74 9.70 16. 88
1CEC. 2+1. 74 9.70
& 32.97m 261. 20m3
B R T =&t EE NO. 1
A 5 BB W @ A FHUE i B =
1CNO. 6+9. 890 0. 00
4.32 0. 20 0. 86
10NO. 6+14. 214 0. 40
10NO. 6+14. 214 0. 40
5.78 0.55 3.18
10NO. 7 0.70
20. 00 0.55 11.00
10NO. 8 0. 40
1.13 0.35 0. 40
1CEC. 2 0.30
1.74 0.15 0. 26
1CEC. 2+1. 74 0. 00
& i 32.97m 4. A4m3




K IR T EHEE NO. 1
B A BB Wi & iR Rao] i th i B =
1CNO. 6+9. 890 0. 00
4.32 0. 30 1.30
1CNO. 6+14. 214 0. 60
1CNO. 6+14. 214 0. 60
5.78 0.75 4.34
1CNO. 7 0. 90
20.00 0. 65 13.00
1CNO. 8 0. 40
1.13 0. 40 0.45
1CEC. 2 0. 40
1.74 0. 40 0. 70
1CEC. 2+1. 74 0. 40
& i 19. 79m3




+TEHBIME (VU ¢ 250) A

WRMERE 33.00 m
. 3. 160 R
I
|
' B X4y e
Jiljiy
= bl I g 0 g s
N I et Q W g
: " m
N\ | N
|3 11. 767 =
E 0o [} —| —
% '_: ___________________________ I dv
B
AR i e
([
B E % <]_1 §
) | sl o jﬂ S
F-..-...-....________x\lr/ " v v
! . AR v
=
S
; 1. 300 R S
T - 1 H iid 2 ¥ E
el (( 1.300 + 3.160 ) X 1.860 —2 ) X 33.00 136.88 m*®
WEM  (t=10cm) 33.00 X 1.30 X 0.100 4,29 m®
EEMETERS - 0.267°2 X 7w /4 = 0.056
ARSHIRE (F4) m4v | ((1.400 + 1.767 ) X 0.367 =2 ) - 0.056 0. 525 m3/m
ARSGHRE (F4ER) 0.525 X 33.00 17.33 m?®
BRAMERE (FE4TL) (( 1.767 + 3.160 ) X 0.703 =2 ) X 33.00 57.15 m®
Sy L) 136. 88 —( 57.15 X 1.11) 73. 44 m?®




T TEHBRIEK (VU ¢ 200) BKE

BIAER 34.10 m
3. 565
l¢ . >
] i
I
I
: B X4y
| - [N Iz
FAs i H) I MR . 4 %
S C At Q Wl 5
" I /M
¥ i -
=2 1. 566 R g
E|7 | )
_'(/_\\“ N . =4 v
s |
I AR t
I FAERD o o ¥ o
~N ) \]ﬁ <
) 1. 350 | s| s K s
- ﬁ: ...................... r’ A4 v v
! ; WO LRt | J
. OI
' =
’ 1. 250 R S
T & " H g L ¥ E
F Ak S H1) (( 1.250 + 3.565 ) X 2.315 =2 ) X 34.10 190. 05 m?
fib Hopg (t=10cm) 34.10 X 1.250 X  0.100 4.26 m?
SRS © 0.216°2 X x/4 = 0.037
ARG (FAER) m49 | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXSHE (FAD) 0.424 X 34.10 14. 46 m?
BRHERE (4T) ((1.566 + 3.565 ) X 1.609 —2 ) X 34.10 140.76 m®
U] 190. 05 —( 140.76 X 1.11) 33.81 m®




T TEHBHIEK (VU ¢ 200) {5KE
BRIEE  5.70 9 m
3 3. 230 N
] i
I
I
. B X4y
~ | . Lf) i
2 FAs i H) . MR % =
Q | y <
- . ¥+ Q K
S | N m
= § 1. 566 . gJ
|9 > -
:_\ET‘ — N ! =4 v
s |
I AK SR t ]
[] i
| P A ol o B o
1. 350 I B
L . . J (e (e <‘: (e
- F: ...................... ? E/J‘% s r" v v v
v I > e v
x 8]
1 —
’ 1. 250 R S
T & " H g L # B
F Ak S H1) (( 1.250 + 3.230 ) X 1.980 =2 ) X 5.70 25.28 m?
fib Hopg (t=10cm) 5,70 X 1.250 X 0.100 0.71 m?
SRS © 0.216°2 X x/4 = 0.037
ARG (FAER) m49 | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXSHE (FAD) 0.424 X 5.70 2.42 m?
BRHERE (4T) (( 1.566 + 3.230 ) X 1.274 =2 ) X 5.70 17.41 m®
U] 25. 28 —( 17.41 X 1.11) 5.95 m?




T TEHBHIEK (VU ¢ 200) {5KE
BAREE 21,80 m
3 3. 255 N
] i
|
|
. B X4y
~ | . Lf) i
3 FAs i H) ' MR 4 &
Q I : N
- . ¥+ Q K
S | N m
=8 1. 566 gJ
(< > —
:_\ET‘ N ! =4 v
s |
I AK SR t
i FAE ) ol o B o
~N ) \]ﬁ <
) 1. 350 | s| S| % S
— e S
v 1 e v
. 8]
1 —
’ 1. 250 R S
T & " H g L ¥ E
F Ak S H1) (( 1.250 + 3.255 ) X 2.005 =2 ) X 21.80 98. 45 m?
fib Hopg (t=10cm) 21.80 X 1.250 X  0.100 2.73 m®
WIS © 0.216°2 X x/4 = 0.037
AR (AR m49 | ((1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXSHE (FAD) 0.424 X 21.80 9.24 m?
BRHERE (4T) ((1.566 + 3.255 ) X 1.299 =2 ) X 21.80 68.26 m®
¥ iy 98. 45 —( 68.26 X 1.11) 22. 68 m®




T TEHBHIEK (VU ¢ 200) {5KE
WIKIERE 8.60 m
3 3.535 N
] i
I
I
: B X4y
~ | . Lf) i
. FAs i H) I H R & =
S . R N .
S | N m
=8 1. 566 gJ
[a\] > —
- T ! S '
s |
I AK SR t
I FAERD o o ¥ o
~N ) K <
] 1. 350 | sl s 51 =
- ﬁ: ...................... : 7 E/J\% s "’ v v v
v 1 e v
. OI
' =
’ 1. 250 R S
T & " H g L ¥ E
F Ak S H1) (( 1.250 + 3.535 ) X 2.285 =2 ) X 8.60 47.02 m?®
fib Hopg (t=10cm) 8.60 X 1.250 X  0.100 1. 08 m?
WIS © 0.216°2 X x/4 = 0.037
ARG (FAER) m49 | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXSHE (FAD) 0.424 X 8.60 3.65 m?
BRHERE (4T) ((1.566 + 3.535 ) X 1.179 ~=2 ) X 8.60 25.86 m*®
U] 47,02 —( 25.8 X 1.11) 18. 32 m?




T TEHBRIEK (VU ¢ 200) BKE
BREERE 7.57 m
5 3. 465 N
] i
|
|
: B X4y
~ | . Lf) i
- TR 1) ' 5 % 3
Q I ' Wl®
- . ¥+ Q LU
S | N m
=9 1. 566 gl
[a\] > —
- T ! S '
s |
I AK SR t
I FAERD o o ¥ o
~N ) K <
L 1. 350 . S| < 51 S
- ﬁ: ...................... : E/J‘% s r" A4 v v
v 1 v xe v
. 8]
1 —
B 1. 250 R =
T & " H g L ¥ E
F Ak S H1) (( 1.250 + 3.465 ) X 2.215 =2 ) X 7.57 39.53 m?
b HLfE (t=10cm) 7.57 X 1.250 X  0.100 0.95 m?
SRS © 0.216°2 X x/4 = 0.037
ARG (FAER) m49 | (( 1.350 + 1.566 ) X 0.316 =2 ) — 0.037 0. 424 m3/m
ARXSHE (FAD) 0.424 X 7.57 3.2l m?
BRHERE (4T) (( 1.566 + 3.465 ) X 1.509 +2 ) X 7.57 28.73 m?
U] 39. 53 —( 28.73 X 1.11) 7.64 m?
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ik B T &5t i =3 NO. 1
REMET
RN R (A2 bREE# : t=30cm) HEE 190.02 m XEERI SR

R B TRERN S8 123.2 m

& & 313.22 m




BARRELET (&4 > FREEHM t=30cm)

EHEE

NO. 1

A = FiZH g8 FHIRS i B %

10NO. 6+9. 890 1.13
4.32 1.13 4.88

10NO. 6+14. 214 1.13

10NO. 6+14. 214 6. 46
5.79 6. 46 37.40

10NO. 7 6. 46
20.00 6. 46 129. 20

1CNO. 8 6. 46
1.13 6. 46 1.30

1CEC. 2 6. 46
1.74 6. 46 11.24

1CEC. 2+1. 743 6. 46
5 & 32.98 190. 02m
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__¢

e
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Pk EM T &R s £ NO. 1
RET
RRUEMEIE
300 x 500 EEl 9.1 9.1 m (R-1548)
300 x 600 A 10.0 + A 16.0 260 m (R-15#8)
300 x 700 Zf# 8.0 + A 10.0 18.0 m (R-1548)
300 x 800 Z# 1.0 + A 6.0 7.0 m (R-1548)
300 x 900 A 6.0 6.0 m (R-1548)
SXk#HtT
££ 7K 400 x 400 x 550 1 & (B2965#%)
N HILN— T
TSR T 300 x 300 x 2000 206 m (B296E#8)
EMHRT (FKE ¢ 250)
L= 33.0-0. 45 (A FLIZRRS) 32.6 m
" (B5KE ¢200)
L=34.1+27.5+8.6+7.57-(0.45x 7) 74.6 m
LY UR—ILERET
15 AFL (R#Z900mm) 1 & (FEKE)
15 A FL (R#Z900mm) 3 @Fr  (5KE)




HEKEEY T B = il NO. 1
ERUEEE (REERI S
X M B fZ] 300x800 | 300x700 [ 300x600 | 300x500 5=
1CNO. 6+14. 850~ 1CNO. 6+15. 850 1.0 X-154 - BEAE
1CNO. 6+15. 850~ 1CNO. 7+3. 850 8.0 X-154 - BEAE
1CNO. 7+3. 850~ 1CNO. 7+13. 850 10.0 X-154 - BEAE
10NO. 7+13. 850~ 1CNO. 8+2. 950 9.1
& E 1.0 8.0 10.0 9.1




HEKEEY T B & =Rl NO. 1
ERUEE (REERTSH)
X s | 300x900 [ 300x800 [ 300x 700 =

1CNO. 6+10. 870~ 1CNO. 6+16. 870 6.0
1CNO. 6+16. 870~ 1CNO. 7+2. 870 6.0
1CNO. 7+2. 870~ 1CNO. 7+12. 870 10.0
1CNO. 7+12. 870~ 1CNO. 8+8. 870

A i 6.0 6.0 10.0
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HAIRT1BYUAR—IILESIHNETE

I7E B FHER =
RC-40
BROEET t=20cm /4% 1.10% = 0.950 0.95 mi /@A
Vo 0.95 x0.2= 0.19 m3
1+0.2 0.19 X 1.26= 0.24 m3/&FT
1o —=bavy)-ba
{uN=bavy)-+T TE-18 (0.170+0.200)/2 =  0.185
wy-tT
7T /4% 0.90% X 0.185- 77 /4 X 0.250°
x1/2x090 = 0.096 0.10 m/&Fr
EE1:2 7T /4%0.90%+ 7T X0.250 X 1/2
ELAILLEET [E&2em % 0.90-0.250x0.90 = 0.765

0.77 m/&r




L E) wwooz @ EWeI
v W fwwooz®  BA=A%Er THE
3 HE A Zruwoe
SHEBEY
TEXEN—k 2
3 W =T
€ ) 4O HE
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[ Bl wa09=H
1 B} woGHy=H 4O
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€ B YL—1| 0099 HAENTE
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K1 ESTUR—ILER TH=TEZE(0 200)

IE R HER =
RC-40
BRAaERT t=20cm T/4%1.10% = 0.950 0.95 mi /@&
Vo 0.95 x0.2= 0.19 m3
1+0.2 0.19 X 1.26= 0.24 m3/&FT
PN VLR =
1o =havy)-+ T LiE-18 (0.170+0.200)/2 =  0.185
wH-+T
7T /4% 0.90% X 0.185- 71 /4 X 0.200°
xX1/2%090 = 0.104 0.10 m/& T
BRE1:2 7T /4% 0.90%+ 7T X 0.200 X 1/2
EILANLEET [E&2em % 0.90-0.200 X 0.90 = 0.739 0.74 m/&Fr







MEIEH A g NO. 1
HEERT (FE&R)
TEEET (48 B AHRM-40 : t=3cm) A= 116.5 m’ T#EBE29654%
FARAI7I MEET
BAETHETROY(20) (t=5cm) A= 190.0 m’ REEKISHE
" I A= 123.2 m? REERISH
" " A= 116.5 m’ THiBBE29654
& &t 429.7 ni
ERAET (BEERR - $ER) TIEER
LERET (B XA  t=15cm) A=16.5x0.57 9.41 m’ THEBE29654
. 313.22 m? RE#ER1E#H
& &t 322.6 ni
TEBRET (BAEYARE t=19cm) A=16.5x0.57 9.41 m’ THHEBE29654
ST 8 B UM EERRRESE 313.22 m? RE#ER1ES#H
& Ef 322.6 m
=BT (EER)
BT 5% FARBL (t=6cm) %38 — % &R (A fA)) A= 67.50 m® (R-15#%)
K5 FARBL (t=6em)  SE—ASER () A= 90.256 m’ (R-15#)
BT 5% FARBL (t=6cm) %38 — % &R (Z ) A= 103.1 m? (R-154%)
BRI FEARBL (t=6cm) 338 — ARS8 (G D A= 52.3 m’ (R-18#)
BKESEFRFEARBL (t=6cm) 338 — AR ER (G D A= 5.4 m? (R-18#)
B TEARBL (t=6cm) 38 —ARER (A1) A= 4.3 m? (R-184)
& 392.85 m?




ST

1]
O H

£

NO. 2

FK P T ARBL (t=8cm)  S#E % A EH (Z ) A= 39.96 (R-15#)
Ywiaviy  (t=3cm)
(GREHEESR) 38— AR AT (2 A= 67.50 (R-154#)
(BEHEESR) 38— AR AT (H D A= 90.25 (R-15#)
(GHEEERERSR) il — AR A (2 A A= 103.1 (R-15#)
(AR EERERSR) i — AR A (H D A= 52.3 (R-1548)
(AR EERERS R HiE— AR A (HAD A= 54 (R-1548)
(BEEHERERSR) SERAR (D A= 39.96 (R-1548)
(AR EERERS R HiE — AR A (D A= 74.3 (R-154 - 1AE)
& &t 432. 81
BK— b ()
(GREHEESR) HiE — AR AR (2D A= 67.50 (R-154#8)
(GREHEESR) HiE— AR AL (H D A= 90.25 (R-1548)
(AR EERERS R HiE — AR A (22D A= 103.1 (R-1548)
(GAEEERERSR) %8 — R E (B D A= 52.3 (R-1548)
(HEEERERSR) HiE—fRAL (HAD A= 54 (R-1548)
(AR EERERSR) SERAR (ZAD A= 39.96 (R-1548)
(HEEBERERSR) HiE—fRAL (HAD A= 74.3 (R-1545 - 45E)
& & 432. 81




METHE ik £ NO. 3
BRAET BAEYLARA  (t=10cm)
(BEHEESR) HE—AEE (2D A= 67.50 (R-154%)
(BEHEESR) HE— A (EAD A= 90.25 (R-154%)
(REEBERERSR) il — ARE (A A= 103.1 (R-1548)
(REmBERERSR) HiE—ARET (D A= 52.3 (R-154%)
(AR ERFERERS R HiE— AR A (HAD A= 54 (R-184%)
(AR EERERSR) HE— A E (D A= 74.3 (R-1545 - 16D
& & 392.85
FANE—BT Hvia i (t=10cm)
(GREHEESR) I — AL AR (21 A= 67.50 (R-154%)
(REHEESR) HE— AL AR (H D A= 90.25 (R-154%)
(AR EERERS R i — A E () A= 103.1 (R-154%)
(GREEERERSR) HE—ARE (HAD A= 52.3 (R-154%)
(R EERERSR) HE— AL AR (HAD A= 54 (R-154%)
(GAEEERERSR) HiE — R A (H D A= 74.3 (R-15# - 1E)
a5 & 392.85
LRERET  HERERA  (t=10cm)
(HEHEESR) SERAR (ZA) A= 39.96 (R-154%)
FEBBET  BAYARE  (t=15m)




HETHE

Bt

OH]

£

NO. 4

(HEHEESR)

HERAED (A

A

39.96 m’

(X-1548)




BT (BATHET R2 > (20) t=5cm) HEHEE NO. 1
Al = 5 B = 8 EXIES m B &
1CNO. 6+9. 890 1.13
4,32 1.13 4. 88
1CNO. 6+14. 214 1.13
1CNO. 6+14. 214 6. 46
5.79 6. 46 37. 40
1CNO. 7 6. 46
20. 00 6. 46 129. 20
10NO. 8 6. 46
1.13 6. 46 7.30
1CEC. 2 6. 46
1.74 6. 46 11.24
1CEC. 2+1. 743 6. 46
& 32.98m 190. 02m2
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% CADETRISEIC & 5 FiiE

A= 1232




T EARR IR

(t=bem) |
SERYIETT

(TEBEE2965#%)

N0.5

(t=bcm)

SHERREIER T

L=5.5m,

% CADETRISEIC & 5 FiiE

A=

116.5

2
m




£BI (FKMEEEFRBL (t=6cm)) HEHEE —hEER (M) NO. 1
Bl A BB g B FHIEE m i i#
1CNO. 6+14. 214 7.41
10. 06 6. 71 67.50
1CNO. 7+4. 28 6. 00
& &t 10. 06m 67. 50m2




(Z v 38 t=3cm) HEHEE —hEER (M) NO. 2
Al = 5 B = 8 EXIES m & & =
1CNO. 6+14. 214 7.4
10. 06 6. 71 67.50
1CNO. 7+4. 28 6.00
& 10. 06m 67. 50m2




PR T (BAEYLARA t=10cm) HEHEE (ZEfAI) NO. 3
Al = 5 B = 8 EXIES m & & =
1CNO. 6+14. 214 7.4
10. 06 6. 71 67.50
1CNO. 7+4. 28 6.00
& 10. 06m 67. 50m2




NO. 4

JALE—BI(H v a3k t=10cm) HEHEE
Al = 5 B = 8 EXIES m & & =
1CNO. 6+14. 214 7.4
10. 06 6. 71 67.50
1CNO. 7+4. 28 6.00
& 10. 06m 67. 50m2




T EARR IR

(REGERRTISH) HEH

1
v N
103. 1m ]
! —/ 4T9-1
/
. A
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[ () [y 2 ’
60 =t tm—ooo000 0000000
L b
=0 : =& ‘
Efmo & 1on07 oooon0gaoiodl
414 3t 1csp2 -
TONOB TCEC2]

% CADETRISEIC & 5 FiiE

A= 1031 i




T EARR IR

(REGERISH) D&

% CADETRISEIC & 5 FiiE
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£BI (FHKMEEEFMRBL (t=8cm)) MK E E FEAE  (ZA) NO. 1
Bl A BB g B FHIEE m i i#
1CNO. 7+4. 28 6. 00
7.20 5.55 39. 96
1CNO. 7+11. 48 5.10
& &t 7. 20m 39. 96m2




TJA4LE—BI (Y v 3l t=3em) HEHEE FEAE (KA NO. 2
B & BE Bt E B TiEE [T B =
1CNO. 7+4. 28 6. 00
7.20 5.55 39. 96
1CNO. 7+11. 48 5.10
= 7. 20m 39. 96m2




NO. 1

LEBRET (FAMEMRE  t=10cm) o i 5t g =
A= B B g 8 FHIEE m % =
1CNO. 7+4. 28 6.00
7.20 5.55 39. 96
10NO. 7+11. 48 5 10
=) 7.20m 39. 96m2




NO. 2

TRB®RET (FBEYARE t=15cm o i 5t g =
B = i =N = 8 g S & i m =
1CNO. 7+4. 28 6.00
7.20 5 55 39. 96
10NO. 7+11. 48 510
=) 7.20m 39. 96m2




B T (B K450 T ARBL (t=60m)) B EHEE —fgE () NO. 1
B~ BB g 8 E1IEE EIE fi
1CNO. 6+8. 53 0.00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12.25
1CNO. 7 2.12
20. 00 2.12 42. 40
1CNO. 8 2.12
1.13 2.12 2.39
1GEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2




(7 v a U t=3cm) B EHEE —fgE () NO. 2
Al = i B B EHES m i
1CNO. 6+8. 53 0. 00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12. 25
1CNO. 7 2.12
20.00 2.12 42. 40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2




PR T (HAEYLAREA t=10cm) B EHEE —fgE () NO. 3
Al = i B B EHES m i
1CNO. 6+8. 53 0. 00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12. 25
1CNO. 7 2.12
20.00 2.12 42. 40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1CEC. 2+10. 675 2.12
& i 43. 26m 90. 25m2




J4LE—BI (Y vias t=10cm) B EHEE —H%E (A1) NO. 4
Bl = i E B8 FHIES m &
1CNO. 6+8. 53 0.00
1.36 1.06 1.44
1CNO. 6+9. 890 2.12
4.32 2.12 9.15
1CNO. 6+14. 214 2.12
5.78 2.12 12.25
1CNO. 7 2.12
20.00 2.12 42.40
1CNO. 8 2.12
1.13 2.12 2.39
1CEC. 2 2.12
10. 67 2.12 22.62
1GEC. 2+10. 675 2.12
& F 43. 26m 90. 25m2
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BAaTE i = NO. 1
SEEBER IOy Y
— R &TA 28 9.1 + 48 3.6 12.7 m
1 45 B 1.2 + A48 3.0 4.2 m
5] F A B 4.2 + A 5.1 9.3 m
— B 7B 6 20.9 + A8 3.3 58.2 m
#2178 A8 0.6 0.6 m
A RC @ 1.2 1.2 m
AL 6 6.0 6.0 m
— iR E5C H8 0.9 0.9 m
HEER IOy Y (C18)
— 5 8 35.3 + A8 460 8.3 m
F AL B 7.2 7.2 m

—REERA T 47.4+46. 2 93.6 m (A ED)




#ZaT B g Z {8l NO. 1
SEEHRI 099

X pd B fr| —#BEB | RBMAERC | FAED | —ABEGA | BFEPA | I TEDA ]
1CNO. 6+14. 81~1CN0. 7+4.31 | m 9.5
1CNO. 7+4. 31 ~1CNO. 7+4.91 | m 0.6
1CNO. 7+4. 91~1CNO. 7+10.91 | m 6.0
1CNO. 7+10. 91~1CNO. 7+11. 51 m 0.6
1CNO. 7+11.51~1CN0. 8+2.91 | m 11.4
1CNQ. 8+2. 91~1CNO. 8+7.81 | m 4.9
1CNO. 8+7. 81~1CNO. 8+8.41 | m 0.6
1CNO. 8+8. 41 ~1CNO. 8+12. 61 m 4.2
1CNO. 8+12. 61~1CNO. 8+13. 21 m 0.6
1CNO. 8+13. 21~1CNO. 8+17. 41 m 4.2

& 20.9 1.2 6.0 9.1 1.2 4.2




BaL Bl = {8 NO. 1
HSERERT 0ysC
X H BOfu] —fH EAHD &
1CNO. 6+14. 21~1CNO. 7+4. 41 | _m 15.5
1CNO. 7+4. 41~1CNO. 7+11. 61 | m 1.2
10NO. 7+11. 61~1CNO. 8+11.61| m 19.8
& 35.3 7.2




#aT B g A1 NO. 1
SEEHRI 099

X pd B fr| —#BEB | PBAEEB | GITHEDA | PEATERA | —ARERA | —ARERC ]
1CNO. 0+3. 67~ 1CNO. 0+4. 27 0.6
1CNO. 0+4. 27~ 1CNO. 0+4. 87 0.6
1CNO. 0+4. 87~ 1CNO. 0+5. 77 0.9
1CNO. 0+5. 77~ 1CNO. 0+6. 37 0.6
1CNO. 0+6. 37~ 1CNO. 0+7. 87 1.5
1CNO. 6+10. 87~ 1CNO. 8+8. 52 37.3
1CNO. 8+8. 52~ 1CNO. 8+9. 12 0.6
1CNO. 8+9. 12~1CNO0. 8+12. 42 3.3
1CNO. 8+12. 42~1CNO. 8+13. 02 0.6
1CNO. 8+13. 02~ 1CNO. 8+15. 12 2.1
1CNO. 8+15. 12~1CNO. 8+15. 72 0.6
1CNO. 8+15. 72~1CNO. 8+17.52 1.8

& 37.3 0.6 5.1 3.0 3.6 0.9




Z=REl NO. 1

%'I‘i
i

AL

H SRS 0y)C

X H BOfu] —fH EAHD B &

10NO. 6+8. 52~1CNO. 8+14.48 [ m 46.0

46.0

op
i







B R EBA R B TR i £ NO. 1
HRAEAES fiF T
HREALT (LED) H=8. Om (—f%F) & (R-1548)
HRBALT (LED) H=8. Om (RERH) 2 HE (R-1854#)
BABEER)VIFLUE FEP30 L=45.2+9.7 54.9 m
TR (51#Z11. 5mm) CV/3.5sg-2C
L=45.2+9.7 54.9 m
L — 150mm 215 TAHHA
L=45.2+9.7 54.9 m
/N> F7R—JL 600 x 600 x H910 1 E (R-15#8)
fEhlE 82 ~
%% 32 RAFEH 55&?%%%1’3') IFLUE i
e
s
X (ORiBIE, BEROEERT .
K B (H=700) V=0.55x1.00x 100 55.0 P 100m% Y
" (H=1200) V=0.65x1.00x 100 65.0 P 100m= Yy
ROE (H=700 - H=1200) V=0.10x1.00x 100 10.0 P 100m% Y
HE (B4&R) (H=700 - H=1200) V=0.14x1.00x 100 14.0 P 100m% Y
R (FEAEL) (H=700) V=0.31x1.00x 100 31.0 P 100m% Y




HE

BB E TS L = NO. 2
HERE (FE4£ L) (H=1200) V=0.41x1.00x 100 4.0 m 100m¥%y
ELITANET  (H=700) V=55.0-31.0x1.1 209 100mZ Y
RAAET  (H=1200) V=65.0-41.0x1.1 19.9 m 100mz Y
£+ T
K 2 (H=700) V=55.0/100x45. 2 24. 86 m®
" (H=1200) V=65.0/100x9. 7 6.31 m’
& F 31.17m’
ROERE  (H=700 - H=1200) V=10.0/100 x 54. 9 5.49 m°
HE (B4&R) (H=700 - H=1200) V=14.0/100x54.9 7.69 m®
HBE FEL) (H=700) V=31.0/100x45. 2 14.01 m®
" (H=1200) V=41.0/100x9.7 3.98 m®
& F 17.99 m®
BLIAET (H=700) V=20.9/100x45. 2 9.45 m®
" (H=1200) V=19.9/100%x9.7 1.93 m’
& F 11.38 m°
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BRI L B E NO. 1
BHIJOv Y (RFJAvy)
FHENRI 1300 x 300 A= 14.6+14.5 2.1 M TERSE(X-15#)
" " A= 2.2+3.8+2. 2+1. 6+3.5+2. 7 16.0 M TERSHE (B2965#R)
& ¢ 451 i
FEJOwY  [300x300x60 A= 0.3+2. 6+1.2+3.2+0.6 7.9 m  FERSHE(B268#R)
HibsH (H=850) N= 2+4+3 9F E=ER)
RIRFEIR (H=800) N=8 8 & (BB B2965#R
AY—JLA (¢ 350 - H=410) 4E TERSE(R-15#)
R FA (W555 x L1200 x H755) 2E FERNSEX-15#)
Ava7z R (H=1200) 46.8 m FERSE(X-15#)

gL (EL) (t=30cm) 10.9m® FEARSER-15H)




9]

|



RE#RTES EE| NO. 1
AR X E R

E#R (8)  W=15cm (£fa) L=34.0 + (AED L=39.3 713.3 m BRAIER (R-15#)
" 1 L=95.5 95.5 m BRMAIER (B2965#R)
" I L=34.5 34.5m HR{R
=i 203.3 m
BE#R (H)  W=30cm L=10.0+1.2 11.2m  Fv R (B29654R)
ER (8)  W=30cm L=13.6 13.6m (R-15#R)
4% (8)  W=45cm L= 2.9+2.9+2. 9+2.9+2. 9 14.5m FiHE(E-154#)
" " L= 21. 0+25. 6+25. 6+27. 1 99.3 m tEMiSIE (R-154R)
&k 113.8 m
E# (8)  W=45cm
L=10.6 10.6 m ¥ ISR (B29654%)
E#R () W=45cm
L=17.0 17.0 m®  BiksHEgs (B2965#2)
E#R(E)  W=15cmifa® L= 16.51+16.51+16. 51+16. 51+16. 51 82.6 M wwsw anmmnsy E-5w
" 1" L=5.7+6.7+6.3 18.7m tFEHA(R-154)
" I L=6.7+6.7 13.4 m =i - $4 (29654
7 7 L=9.4+9. 4 18.8 m  xzmzmm - 34 @658
" " L= 35.0+35.0 70.0 m  x7 - ki AEE B20654)




X E#R TEE

i

NO. 2

W=15cm#fa &

op

it

203.5 m

iR (H)
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BEDBETES B = NO. 1
SR YIT T (t=15cmLF) =24 24m FTEHRSEE-15#)
" " L= 5.4+5.5+2. 0+17. 0+8. 0+21. 4+3. 8 63.1 m FENSHEB2965R)
& &t 65.5 m
SRS (t=bcm) A= 60.7 60.7 m? sk sRIE (K-1545)
" " A= 116.5 116.5 m®  shssimms RinE (29624
" (t=4cm) A= 0.3+2. 6+1.2+3. 2+0. 6 1.9m’ TEESEE2968#)
=i 185.1 m?
7RI 7L b UKL S 0.130m*/100m % 13. 3m 0.02 m* (t=5cm) 2. 4+5. 4+5.5
" 0.108m*/100m % 52. 2m 0.06 m®  (t=dom 2.0+17.0+8.0+21.4+3.8
=i 0.08 m*
FAI7IL L5Rs Asz% V=177. 2%0. 05= 8.9m’
" " V=7.9%0. 04= 0.3m’
& 9.2 m
ERURAE#ANS  Comk (HH)
L=16.5 16.5 m TEHSE B29654)
= (0.57x0.50-0.30x0.30) x16.5 3.2 m
w5y =hams Coxk ()
V= (1.8x2.8x1.5) - (1.2x2.2x0.9) 5.2m  FERBE
&t 8.4m
CoRgiEifl - M%) EMEEREL=8. OkmLl 8.4m _DIDA




e hi i 2 SR TR

| A
| |
i /
(t=hem) | “’E H
HEMRUIT
L=5. 4m | ‘g\ J J
— © B
T T
N0,5 NN NN\ N Nﬁé N
AN \\ \\ \\\ \\ .
oy w e w— )
| | 8.5
A \ |
| - Rl n
| 11 I

% CADETRISEIC & 5 FiiE

A= 116.5 ni
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ERUREE  300x500 BAUNEFEE 10m24 4
500
230 _, 115, 155
m% $EEER IOy Y (AEBIE)
180 x 230 x 250 x 600 ~ 5
REELIL )
(B2&1:3) 7] \ [ ?Q
#o i 2
3 &
ABELENL § =
@®ET:D) Ki/j : ‘j\ =
BLavsy—r e e 2
(o ck=18N/mm2) =
. £ BV y—k
(Rc"iﬁ 50 | 100 300 100| B0 (o ck=18N/mm2)
600
REN D27 J— Fl&. HERAE-Hx3 o &.
2 Al H - Tk H H E W i =
HAKT
R RUZEEIE 300/ L=2000 N= 10.0/2.0 5.0 N
(o ck=18N/mf)
FEaLHY— | BIEEY V=" (0.126x0.30) x10.0 EiE 0.38 m®
(o ck=18N/m)
EEgaryy—+ BIEEY V=" (0.05x0.60) x10.0 0.30 m®
B A= 0.05x2x10.0 1.00 m?
REEILAIL EE1:3 V="0.50x0.02x10.0 0.10 m®
BEIIYHIY
HIERA (RC-40) t=10cm | A= 0.60x10.0 6. 00 m?
BliEES 300/ L=2000 4.0 "
BliEE (FETL) 300/ L=2000 1.0 "

X B, ERBAE, BT/ Ay —CRAICET,




ERUBIEE 300600 HAMEEEE 10m24 1)
500
230 _ 115., 155
i SEEBRIO v (HEBE)
180 x 230 x 250 x 600 ~
15
REELZIL =
@&1:9) \ [ Y
4160 i E
2 &
ARELEL =
@A) Ki/j - ‘“{ =~
HLavs y—k - o~
(o ck=18N/mm2) =
5 HR Efavyy—+
<Rc-47<c)_') 50 | | 100 300 100| 5o (o ck=18N/m2)
600
XEADUD — . DRAESB-IRT 5L,
& bl R - Tk B H E W By =
HekT
R RURIEIE 300F L=2000 N= 10.0/2.0 5.0 .
(o ck=18N/mif)
WEILH)— EEEY V= (0.122x0.30) x10.0 EHE 0.37 m?
(o ck=18N/mif)
HEEa o )—Fh B EY V=" (0.05%0.60) x10.0 0.30 m?
B A= 0.05x2x10.0 1.00 m?
SAREILZIL f2E1:3 V= 0.50%0.02%10.0 0.10 m®
BEIIYMITY
HERERA (RC-40)t=10cm | A= 0.60x10.0 6. 00 m?
RS 300F L=2000 4.0 #&
BIiSE (FEA) | 300/ L=2000 1.0 #&

X BEfEa,

EBERAX, BINNvF—CREIIZET,




ERUBEI®E 300700 HE#HSHESE 10m4 Y
500
230 115,155
73 SEEERIO0 Y (AEBH
180 x 230 % 250 x 600
15
REELZIL S
@&1:3) \ [ gé 8
SMG I 2
B &
REELZIL - =
@&1:3) e ‘u{ =
yLIvsY—F - —+ 3
(o ck=18N/mm2) =
= ETavsy—k
gﬁ)ﬁg 50 100 300 100 | 50 ( Gck:=1 8N/mm2)
600
XENTo7 T—F L. ORTERET 5L,
& bl R - Tk B H E W By =
HEkT
R RURIEIE 300 L=2000 N= 10.0/2.0 5.0 .
(o ck=18N/m)
FAEOHY— EHEEY V=" (0.107%x0.30) x10.0 EHE 0.32 m
(o ck=18N/mf)
HE@Ea o )—+ EHEEY V=" (0.05%0.60) x10.0 0.30 m?
B A= 0.05x2x10.0 1.00 m?
SAREILZIL f2E1:3 V= 0.50%0.02x10.0 0.10 m®
BEIIYMITY
HERERA (RC-40)t=10cm | A= 0.60x10.0 6.00 m?
BEE 300F L=2000 40 &
%S (@A) | 300/ L=2000 1.0 #&

X BEfEa,

EBERAX, BINNvF—CREIIZET,




ERUBEI®H 300800 HAMEAEE 10m4 Y
500
230 115,155
73 SEEBRI0 Y (AEBH)
180 % 230 x 250 x 600 ~—
15
BEELEIL 3
®AT1:3) ] 1T gé 8
4@ i 2
8 &
REELEL T =
®AT:3) Ki/j - ‘j\ s
HLavyy—F i
(o ck=18N/mm2) =
v Hp EiTavy)—+
(RCﬁg 50 100 300 100 | 0 (o ck=18N/mm2)
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